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| ndividual students, nonprofit libraries, or schoolsare
permitted to make fair use of the papersand its
solutions. Republication, systematic copying, or
multiple reproduction of any part of thismaterial is
permitted only under license from the Chiuchang

M athematics Foundation.

Requestsfor such permission should be made by
e-mailing Mr. Wen-Hsien SUN ccmp@seed.net.tw
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1. 2x2%x2x2x2%x2x2x5x25x125= 9
=(2x5)x (2% 2% 25) x (2x 2% 2x125) x 2=10x100x%1000x 2 = 2000000
2. 5+10+15+20+25+---+300+305+310+315= ¢

_(5+315)x63_ o0

3. 10.08+20.16+30.32+40.64+51.28-8.07-12.15-16.31-20.63-25.27= ¢

=(10+20+30+40+51-8-12-16—-20-25)
+(0.08-0.07+0.16-0.15+0.32-0.31+ 0.64-0.63+ 0.28-0.27)

=70+ 0.05
=70.05

4, 167x399+167x399+167x399+167%x399+167%x399+167x399= 9
=167x399x 6 =167 x 6x 399 =1002 % 399 = 399798

5. 164+164x3+164x5+164x7+164x9+164%x11= ?
=164x(1+3+5+7+9+11) =164 %36 = (100 + 64) x (100 — 64)
=100* — 64° =10000 — 4096 = 5904

6. 135789+ 357891+ 578913+ 789135 + 891357 + 913578 = ¢
=(1+3+5+7+8+9)x111111=33x111111 = 3666663

7. 201.6x7.8+9x3+67.2x5+3.9=7
=6/7.2x3x7.8+9%x3+67.2x5+3.9
=6/.2+67.2x3x3+9%x7.8+3.9x5=2x5=10

8. 2016+2015+2014+---+1010+1009-1008-1007 —=---—=3-2-1= 9

[ %+ %2 1]

= (2016 -1008) + (2015 -1007) + (2014 —-1006) +--- + (1010 - 2) + (1009 -1)
=1008+1008 +--- +1008 +1008

10087%

1008x1008 =1016064
¥ 2z 2]
= (2016 + 2015+ 2014 +--- + 2+1) — 2x (1008 +1007 +--- + 2 +1)
_(2016+1)x2016 _,, (1008+1)x1008
2 2
=1008x (2017 —1009)

=1008%1008 =1016064
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9. 954x954-504x504—-450x450= ¢
= (954 +504) x (954 —504) — 450 % 450

=1458x 450 — 450 % 450
= (1458 — 450) x 450
=1008 x 450 = 453600

10. 2016x 7777 +672% 6666 = ?
=2016X 7777+ 672x 3% 2222

= 2016 % 7777 + 2016 x 2222
= 2016 % (7777 + 2222)

= 2016 (10000 -1)

= 20160000 - 2016

= 20157984
Ix3x6x10+4x12x24x40+7%x21x42x70+10%x30x60x100

T 2x5x7x11+8x20x28x44+14x35%x49x 77 + 20x50% 70x110
1><3><6><10><(1+4+7+10) 1x3x6x10 _18

C2x5x7x11x(1+4+7+10) 2x5x7x11 77
12. 20.16x20.16+79.84x120.16 = ?
= 20.16 % 20.16 + 79.84 (20.16 +100)
= 20.16% 20.16 + 79.84x 20.16 + 7984
= 20.16% (20.16 + 79.84) + 7984
= 20.16x100 + 7984
= 2016 + 7984 = 10000

13. 28.8x199.99 - 2.88x1999.6 —0.288%x1.9993 = ?
=288x%(0.1x199.99 -0.01x1999.6 — 0.001x1.9993)

= 288x%(19.999 -19.996 — 0.0019993)
= 288x0.0010007 = 0.2882016

=9

14. 21li+(5x2%—4+1)+1+0_9375= o
_21_+(5 - 2)‘£ Do —(% 15) 7=220-2x7=13
16 7 16 7

5 1169 1214 889

1690 501 114
1169 /715 . 1001

1690 501 114
1169 715 114~ 7x167 5 x11x 13 2x3x19 19 _ 19

1690 501 1001 2><5><13><13 3x167 7><11><13 13><13 169

=2




16. 2015x 2015 + 2016 %
2016

2016

4033

=9

2017 2016x2017

2015 (1-—L ) + 2016 % (1- L) - 2016+ 2017,

2016 2017° ' 2016x 2017
0152015, oo 2016 1 1
2016 2017 2017 2016

= 2015+ 2016 - 2 = 4029
17. 91+ 929+ 9399 + 94999 + 959999 + 9699999 + 97999999 + 989999999 = ?
= (90+ 2—1) + (900 + 30 —1) + (9000 + 400 — 1) + (90000 + 5000 — 1)
+ (900000 + 60000 — 1) + (9000000 + 700000 — 1) + (90000000 + 8000000 — 1)
+ (900000000 + 90000000 — 1)
= 90 + 900 + 9000 + 90000 + 900000 + 9000000 + 90000000 + 900000000
+ 2+ 30+ 400 + 5000 + 60000 + 700000 + 80000000 + 90000000 — 8
= 999999990 + 98765432 - 8
=1000000000 - 10 + 98765432 - 8
=1008765432 18
=1098765414
1 2 14 30 62

T Ax2 1x2x4 1x2x4x8 1x2x4x8x16 1><2><4><8><16><32_?
_ 4 2 14 B 30 B 62

T Ix2x4 1x2x4 1x2x4x8 1x2x4x8%x16 1x2x4Ax8x16x 32
_ 2 14 B 30 B 62

T 1x2x4 1x2x4x8 1x2x4x8x16 1x2x4x8x16x 32

B 16 B 14 B 30 B 62

T IX2%x4x8 1x2x4x8 1x2x4x8x16 1x2x4x8x16%32

B 2 B 30 B 62

T 1x2x4x8 1x2x4x8x16 1x2x4x8x16x32

B 32 B 30 B 62

T 1x2x4x8x16 1x2x4x8x16 1x2x4x8x16x32

B 2 B 62

T 1x2x4x8%x16 1x2x4x8x16x32

B 64 B 62

T 1x2x4x8x16%32 1x2x4x8x16%32

B 2

1x2x4x8x16x32
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485359 323) -10 81018 _,

999999 999 999999

_,20485339 323323, 10081008

= 999999 999999) " 999999

_ 20162016 999999
999999 ~ 10081008

_ 20162016

~ 10081008

=2

19. (20

20 33x27-22x18+9-4 _ o

' 195+ (33x27-22%x18+9-4) |
(33x27-22%x18+9-4)
(33x27-22%x18+9-4)

(33x27-22%x18+9-4)
48+(33><27—22><18+9—4)

250

] 33x27-22%18+9-4=(30+3)x(30-3) +9-(20+2)x(20-2) -4

=30°-F +9-20°+2° -4

9-
75+

30-

=30% - 20°
=500
e ad R 3 x% 3
500 ~ 500 ~ 500
500 B 500 a 500
125+ . 200 125+ . 200 125+9_ 200
500 500 500
75+ A+ —— S+ —r
500 500 500
30 - w 30 - 30 -
48 + - 48 + 2 50
250
~ 500 ~ 500
B 500 B 500
125+ o 500 125+ o 200
75+ 200 75+ 20
30-10 20
~ 500 500 500
B 500 a 500 500
125+9_500 125+9_500 125+ﬁ
75+ 25 100
500 500 500

195 +520 125+125 250



